
Dati A D E F G M N R

Lato(m) 2,5 2,5 2,5 2,5 2,5 2,5 2,5 2,5

Spessore(m) 0,6 0,6 0,6 0,6 0,6 0,6 0,6 0,6

D [m] 1,1 1,2 1,3 1,5 1,6 1,15 1,35 1,55 profondità del piano di posa della fondazione

GWL [m] 0 0 0 0 0 0 0 0 rispetto al PC

GWL [m] 0,5 0,5 1,3 1,5 1,6 1,15 1,35 1,55

GWL [m] 8 8 8 8 9 4 8 8 G = E/(2(1+n) modulo di taglio

f'p 40 40 40 40 40 40 40 40 E = 50MPa

f'cv 32 30 31 28 33 28 33 30 n=0,35 Ir = G/ s.tgf

g [kN/m3] 19 20 19 20 19 19,5 19 19

Dr% 0,8 0,8 0,8 0,8 0,8 0,8 0,8 0,8




